
 

 

Answer on Question #48818 – Math – Complex Analysis 

Solve the equation 

1) sin z+ cos z=0 

2) exp(z^2) = exp 3z ; Im z in (-pi,pi] 

3) ln(z+1)=ln i 

Solution. 

1) 
i

ee
z

zizi

2
sin


 ,   

2
cos

zizi ee
z


 . 

Let denote te zi  . Then 









t
t

i
z

1

2

1
sin , 










t
tz

1

2

1
cos . 

0
1

2

11

2

1




















t
t

t
t

i
,     011 22  tit ,   

 
i

ii

i

i
t 














2

121

11

1

1

1
22

2

2
. 

22 1


i

zi eie


 ,   ikizi 


2
2

2  ,   kz 



4
,   Zk . 

2)  zz ee 32

 ,   ikzz 232  ,   0232  ikzz  ,   Zk . 

ikikD  892432  .   
2

64813

2

3 22  iekD
z





 , 

where 








 



9

8

2

1
;

9

8

2

1 k
arctg

k
arctg . 

As   ;Im z , then 





2

6481 22k
. None of Zk  obeys this inequality, because 







2

9

2

06481 22

. 

So, there is no solution. 
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